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d)

2. (a)

(b)

(c)

(d)

(e)

348 (WH)

Which of the following is known to be

able to form symbiotic associntion with
plants ?

)
(i)
(1)

(iv)

specific position within the DNA ?

(i)
(ii)
(iii)
(iv)

Rhizobium

Mycorrhiza

Nostoc

Both (i) and (ii)
Which enzyme is known to make cuts at

Exonuclease

Endonuclease

Polymerase
All of the above

. i 1
Write two major functions of Testis. 3 + 3 =1

What is co-dominance ? Explain it with

1 1
suitable example. 7 +; =1
What do you understand by monosporic
development of female gametophyte ? 1
Mention two chemical diﬂ'eren;:ea .
between DNA and RNA. ; + 3 =1
How does transmission of the follow;}ng .
diseases take place ? 3 + 3 =1
(i) Amoebiasis
(ii)  Ascariasis
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What do you understand by Apiculture ?

labelled  dingram .
g (a) Ihl" l“:::m::‘duf human anminifnm;:l: ' (c What is i _
vertica o wpermatogenenis. 1e1 at 18 1ts economic importance in our
tubule showing o -2 lives ? 1+2=3
: watand by the term - :
(b What do you unde ) - r (d> What is recombinant DNA technology 7
. v sl 1 w two oD)ecuves o . . ;
hreed' 7 Mention oty o Describe the procedure of insulin
animal breeding. b . b \ =2 production by this technique. 1+2=3
(¢ Draw line ;kvh‘l"l :i'ﬂh'!”:':z"l‘l :‘f [:1“‘!‘#-'3’ flow . 5. (a) What are transgenic animals ? Why are
ifferent tropQuc levels. : i
through difle t ) they produced ? Describe in brief their
(> When a cross 18 111:1*&7‘-1"-“'”*‘" “"i I‘I‘"‘t usefulness for human beings. 1+41+1=3
with vellow svvds\\ visand tall plant
with  green goeds (Ttvy),  what (b) With the help of a suitable diagram,
pmpnrlimls :-\( enolype inthe uﬁsprlng describe the log-igtic population g‘l‘ﬂ‘Wth
could be g? ed tobe 1+1=2 curve. 1+2=3
() Talland Groen (¢) Why does ozone hole form over
(ii) Dwarfand Green ” Antarctica ? How  will enhanced
(@) What are bio-fertilizers 7 Name any two ultraviolet radiation affect the plants and
bacteria which fix atmospheric nitrogen animals ? 1+1+1=3
. . I 1
in the soil. I+; + =2 (d) Whatis triple fusion ? Where does it take
-7 9N the nuclei involved in triple
4. (a)  What is meant by emasculation ? When place * Name -
fusion. 1+1+1=3
and why does a plant breeder employ )
is techni s 7 o ) oo . .
this technique 1+1+1=3 6. (a) What is polygenic inheritance ? Explain
(b} Explain the following terms with suitable it with suitable examples. 1+2=3
examples : 1 §+I Ei =3 (p) Compare the advantages and
(i) Hybrid vigour - disadvantages ~ of  production  of
(1i) Incomplete dominance genetically modified crops. 1 E +1 ; =3
348 (WH) 8 348 (WH) 9 P.T.O.
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() If a marine fish is placed in a freshwater what is plant breeding ? Describe methods of

9. plant breeding for disease resistance and
aquarium, will the fish be able to ! .mproved food quality. 1424925
survive ? Why or why not ? 1+2=3 |
(d) Make a diagram of simplified model of | OR
phosphorus cycle in a terrestrial Write short notes on any two of the
ecosystem. (No description is required) 3 following : 2l,01 5
(a)  Fisheries 22
7.  Describe the human ‘2%@“18 reproductive (b)  Inbreeding
. 8ystem with the help t&@abellcd diagram. 3+2=5 () Acquired Immunity
Q\ R
Describe the%%mceas of fertilization in
angiosperms with the help of diagram. 3+2=5
8. What are nucleic acids ? Describe double
helical structure of DNA molecule proposed by |
Watson and Crick. 1+4=5 |
OR
What is sex-determination 7 Describe the
mechanism of sex-determination in birds and
honey bees. 1+242=
- § 348 (WH) 11 1.70.000
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